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Multiplication (Vertical) Name:

Solve each problem. Answers
1y 6,222 2 7.063 3 4,089 4 8,033 .
x 69 74 X 33 X 99 '
2.
3.
4.
5) 2.457 9 6,777 7) 6,802 9 6,693 i
x 54 60 X 71 X 43 '
6.
7.
8.
9 8,785 10 2.405 11 8,642 12 9,101 .
X 41 49 X 94 X 95 '
10.
11.
12.
13 1,796 ¥ 4674 1B 2144 16) 4,624 .
x 31 60 x 10 x 17 |
14,
15.
16.
17) 1,686 18 5,256 19 1,152 20 6,761 |
X 21 43 x 89 X 44 '
18.
19.
20.

1-10 195(90(85|80| 7570|6560 |55 |50
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
2) 3) 4)
6,222 7.063 4,089 8,033 | 9318
X 69 X 74 X 33 X 99
55,998 28,252 12 267 72,297 ||, 522,662
+373.320 +494.410 +122 670 +722.970
429,318 522.662 134937 795,267 |3 __ 134,937
. 795267
6) 7) 8)
2 457 6,777 6,802 6,693 | 135678
x 54 x 60 x 71 x 43
9.828 406,620 6.802 20,079 |ls 406,620
+122.850 + 476,140 + 267,720
132 678 482,942 287.799 |7 482,942
s 287.799
10) 11) 12)
8 785 2 405 8 642 9,201 | . 350185
X 41 X 49 X 94 X 95
8 785 21,645 34,568 45,505 |l 117,845
+351.400 + 96,200 +777.780 +819.090
360,185 117,845 812 348 864 595 |1 _ 812,348
1 864595
14 15 16
1,796 ) 4,674 ) 2,144 ) 4,624 s 55676
X 31 X 60 x 10 X 17
1,796 280,440 21,440 32.368 u 280440
+53.880 + 46,240
55 676 78.608 15, 21,440
16. 78,608
18 19 20
1,686 ) 5,256 ) 1,152 ) 6,761 || 35406
X 21 X 43 x 89 X 44
1,686 15.768 10,368 27.044 |l 226,008
+33,720 +210,240 +92,160 + 270,440
35.406 226.008 102,528 297.484 |10 102,528
o 297.484
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